guobboboddoobobodgdoooaoooad

0000°00000 00000 ooooo”®

0000000000000 MOo000oooo0®oooooooon €

1 00Odd

ggbooouogbbuobbooooooo

e ElE
000000000000000000000 4 EEE 4
203K b —
000000000000000000000
HSR — 1

0000000 300K 00 44K 0000000 - = OB
00000000008KOOODOOO0OODO R RRERER | B =
000000000000000000000 =— = =
000000000000000000000 — bl — =
000000000000000000000 —— o mi/ﬁéﬁ 1=
00D000000000000000000 A R 5

E
000000000000000000000
ooo0oooo googooo
2 OJO0O0O
0100000000000000000000000000
00000000000000000000000010000 F v EE

ggbogbupobuobboboobduobogbooooooo
ggbogbuobuobbouoobduobuogbooooooo
ggbogbuoobuobbobuoobuggbooooooobo
ggbogbuobuobbboobdugbuogbooooooo
ggbogobuopobbboboooodgobuoobobuoono
gAlDboOobuoooubboboobogobooooooo
ggbogbuobuobbbobuoobuagbooboobago
gobgoogbboboobdabobuobbogoBsbuooooDo
ggoooogn
oo oooo
gbobobobobobob0obooobboobo23KboOOo
gbobobTioT20T30 0 ggooooooooooan

gbobobouoouoooboboubuobobibioibl s v — s

ggbogbouapobobobobuoobuogboooobda oo
ggbogbuobuobbobuoobugbbooboooobo
ggddooooooooooooooooooobbobbo
gbobobooobooobooooTsigooboooooboobo

0

‘\\\
B RELE \
EFEHT Y
(ICF70)

(7= A
AN —])

BIEF v o —
O.D.quN\
0.5t

M (7D

QDog1s 0 1t

#E HR

(=M= 81

gogoooobooo

ggbooobobbobduobuooboouoobuooooooobooog




0 2000000000000000000000000000 250mm0
0000000000000000000@YIO00MO00N0MTO0 [J000000
T000000000000000000100000000000000 [BUJoo000oo
000000 O0000000000000031QM000 T300000 :ﬁﬂgggg
000000000000 1000000000000000000000 (e 500D
050000000000000000000ICAI00000000000 [AG 0000
00000000000000000000010000000000000
0osusooo0oo0ooooon poooooood

000000000000000000000000TMPOD 1x 10%Pal]
00000000000000000000000000000000 TI0T20T30000000000
00000000000000000DCSource]000000 203K00000000000 0000000
00000 00@DD0000000000000000000000000000000 0.10 05mA7 0
0.10050/00000000000000000000000003000000000000000 Q0 W0
000000

gopboooobon

(BEFXRTES 3ol O
)
320 ——m———r————r—rr—r——
3 I:I I:I I:I I:I |:| |:| 280 .\V/ 4 . 1:BL vs Au
AN A —O -2BLvsAu
0000000000000 0000 240 B 1:BLvsCr
‘g 200 -{-}-2:BLvsCr
000000000000000 1020 < A 5L
E 160 :BL vs EP
102000BIvsAu0 0000000 BL = —/\ - 2:Bl vs EP
000000000000000000 3m030m, oy | @ TBLVS NP
80 —>-- 2:BLvs NP
0 A0D00000000000000O0 N Sl W vsLvsst
00 Q0,0000000000000 40 g ;j;:ﬂ%"Vﬂmwm
00000000000000000 Q 982 284 286 288 200 292 294
Oowooo0oOoD0OoO0O,000122m00 Temp. (K)

ogobbooobod



Uobo0oobbOoOobooOn 298Kd BLvsBL OO Qg U3.6WHBLVvsAUO O Q03w O O0OOoonO
gobooooooobooooobseLb o0WhOAuO O 0OAWOOOOOOOOOOOOOOoOoooooon
gobobogooooooobooooboboboooooooobooooobobooobooobboobbooobbooDbo
000000000000000000000000000 1x10°,a000000 190230000000
b Quuoubooooobbono sustouuoboooN,oObOoOoooooooooboooobbboooo
giobb00Aud CrO000OOOOO0OOO0O0O0OOOOOODOOOObOn

goboooooooobooooboooooooobooobooobooobobooboooooDbobooboon
O00e 000000-000000000000000000000 =567x10%Wm0K'00000000
QUbOOOobbouoon

Q-_ 0A1 (T1*-T2%) S
(W)
1/&1+A1/A2(1/ € 2-1)

Q: BMRAE (W)

00000000€ :0¢ .00000BLvsBLOODO A2 Azfﬁﬁ(m)
T thg (K)

0000000000000000e =€ 00000 (T1>T2)

0203KO00M=36WOOOO0OBLOOOOOO 075 R CIES

gobooooooboboooboooooono € .0 075

oooooooooobobooooQAa0ooooon

gobooobboogoboboe 0000000
gobBLOE =070 0000O00OOCO0OODO

ooooooOodd

000 QADO0TOO000000000 0.2 : :
D00000000000000000000 %}y:ggq:
e :0 T20 7KOODDOD000TOOD | g
00000000 283K 00 208K 000000
0000000

OO0e 0000000000000000 ¢ 0.1
gbobooooooobooooooooobo

gbobooooooobooooooooobo 0.05 Vi i)
vsoooogoooogooo e = bt}
4 000

0
282 284 286 288 290 292 294
gboboooobooooobooboooboooon Temp. (K)

gobooobooooooooomoooboon
goboooboooooooooobooooobon
gobooooooooboooobobobooboooooobooooobbooobooobbOobboooboboooDbo
goboogobz2000oo0oi10o0oo0oobobobooooooooobooooon
goboooooooobooooboooooooobooobooobooobobooboooooDbobooboon
goboooboboooooooboooooooboObo0ooobobooooobooooooobobOobOooDbo
goboooooooobooooboboboooooooobooboooobbooobooobbOobboOooobbooDbo
goboogoobooobooooooobooooooobobooobooboobooboooobboooo

gbooobogoobgod



